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6.5 Another version of Strassen’s algorithm uses the following identities to help
compute the product of two 2 X 2 matrices.

S1 = as; + ay, My = $p8¢ ty=my + m,
Sg = 81— ayy my = ay by, L=t +my
S3 = Gy — Ay Mg == a;,b,4

S4= g — 8y my = S35y

S5 = by = by Mms = 5185

S = byy — S5 Mg = 543Dy

S7= bgy — by, My = QppSg

Sg = Sg ™ byy
The elements of the product matrix are:

C11 = My + my,
C12 = tl "*‘ m5'+ mé,
Caoy = Iy — my,

Show that these elements compute Eq. (6.1). Note thit only 7 multiplica-
tions and 15 additions have been used. -
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